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Prompt: The results of this scenario are acceptable to you.

Policy Scenario: Status Quo (n=16)
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Prompt: The results of this scenario are acceptable to you.

Policy Scenario: Hold the Line (n=18)
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Prompt: The results of this scenario are acceptable to you.

Policy Scenario: Laissez Faire (n=15)
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Prompt: The results of this scenario are acceptable to you.

Policy Scenario: ReAlign (n=15)
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Prompt: The results of this scenario are acceptable to you.

Policy Scenario: Neskowin (n=14)

100%
90%
80%
70%
60%
50%
40%

30%

20%
10%
=

Agree Somewhat Agree Neutral Somewhat Disagree Disagree




100%

90%

80%

70%

60%

50%

40%

30%

20%

10%

0%

Vote for the WORST Scenario (n=13)
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Prompt: This policy should be included in the preferred scenario.

Policy: Maintain Current UGB Development
Patterns (n=13)
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Prompt: This policy should be included in the preferred scenario.

Policy: New BPS allowed only on Goal 18 Eligible
Properties (n=13)
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Prompt: This policy should be included in the preferred scenario.

Policy: New BPS allowed on ANY property (n=13)
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Prompt: This policy should be included in the preferred scenario.

Policy: New beachfront development ONLY on
Goal 18 eligible properties (n=13)
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Prompt: This policy should be included in the preferred scenario.
Beach Nourishment in front of Existing BPS
(n=13)
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Prompt: This policy should be included in the preferred scenario.

Policy: No new development in hazard zone
(n=13)
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Prompt: This policy should be included in the preferred scenario.

Policy: Parcel Re-Zoning outside of the
Hazard Zone (Conversion from low density
to higher density residential zones) (n=13)
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Prompt: This policy should be included in the preferred scenario.

Policy: Formation of easements following
repetitive damage (n=13)
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Prompt: This policy should be included in the preferred scenario.

Policy: Safest Site and threshold requirement for
new development (n=13)
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Prompt: This policy should be included in the preferred scenario.

Policy: Relocation of buildings within existing
parcels (safest site and threshold) following
repetitive damage (n=13)
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Prompt: This policy should be included in the preferred scenario.

Policy: Restricted development within Hazard
Zones (n=13)
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Prompt: Indicate the importance of this metric.

Metric: Buildings impacted by flooding (n=13)
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Prompt: Indicate the importance of this metric.
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Prompt: Indicate the importance of this metric.

Metric: Buildings destroyed by long-term
erosion (n=13)
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Prompt: Indicate the importance of this metric.

Metric: Roads impacted by erosion (n=13)
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Prompt: Indicate the importance of this metric.

Metric: Roads impacted by flooding (n=10)
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Prompt: Indicate the importance of this metric.

Metric: Beach Accessibility (n=12)
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Prompt: Indicate the importance of this metric.

Metric: Value of eroded property (n=13)
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Prompt: Indicate the importance of this metric.

Metric: Value of Flooded Property (n=12)
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